9a.

V=92,3.4.56, 7.8,9,03"

P { '1,4’57(0@/

R=F 457

R :{2,3,97}\

T e

o
@uoﬂ/
\O@/\/

‘\ =y

—

M)

}7: £2,4 5 (Oj

R :’ZZJ', /gﬁ/OEL/

" =§ 23,576,721 /05\/

F(POR Ng oy (0Q)T

(PoR')={wmi05
(@) =525 0%

(PR ) U(PNE) 55 245003
=

b>T i(P/P)/ (D.ﬂ)/ [D 1, (Q)Q) (O)r”) @‘/S') ["/ ) (.‘C//ﬂp
=¥ (S/f') (5‘/5)? 0"7 ib Q/(‘/*SE
) (D> f‘\'{:—)
{/
e 5
S n\ @\() -

N Tt s eblexive me/ (| lemerte ’o;zg/g’d\‘

Nn’( CVMMC‘MC \gwtw% Cvﬂ/) (/TJLmL (q/p)é/ \/

NO“’ ‘kmqﬁkw Locbrﬁ@ (§,l7)mm (kr%)eT)Jﬁ (fﬂl/)é

bﬁ* () =3eh> 4

o (0) = Tok

0 (x)=%-5

e

(:?J‘}'I! = ,/J-

u iy =%

= (qﬂr) = \/

\V— =i



g '(x) =2(x+4) v

o= 260w

\

£h(x) = Th)]
= £ (x-5)

2 30x5>+ bx5)?

T 3x-154x2- 10X 35

2 Ry D

b (%)

)
A4

(ﬁ}f g‘: x-h
L Zuxh

= \J:
\ 00 =t .l

W

L =W 3]

=250 X245

AU EIVARARS

=3/, + fus

:Q§/4 T




